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C/C++ 23999 : /N poh

(1 - 4 MHNY) MNAN MINYN 4 I ,1a%1 MYNY 2 by mayb vy
1051 10731, MI3NBN SU AU T NIBBH AN BIIH N It noww sy sy - (SNIPY 20) 1 9901 HYNY
1299 7991 NMINMNN NPINN NINM

class SortArray{
int *arr;
int len; //1wnn TN
int findIndex(int num); // X 9>y0
~ public:
SortArray(int *array, int length); /82
int Occurance(int numy); /2 yo

};

NN 7PN 901N nYapnn findindex nOSPNON NN wHon (MNP 10) (N

% MY W . -1 PINND ¥ XN KD TDNIY 19PN . TIVNA 1DV OPTOIND
99392 VDN WNNY Y 199 PIN J9ynn

2 NPT 1901 NYapnin Occurance NPSPNON NN WY v (MNHP) 10) (2
99999 TA¥NIN 3 NI TN WM NXIN DINDYD
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0513 Y0731 ,TBNIBN SV AU TIHYA H0D IN DI N3 T nonw by - (SN 20) 2 9901 HINY

1 N int is_begining(char *s1, char *s2) 1°8pn9 23N (M) 10) (X
-y s2="abc" ON :Ywnb .s1 NHINKN DY NONNN NN s2 AYINHD DN

7IPNn 992 .1 PInn MIPNMN sl HY ndnnn NN s2 NN s1="abcdefg"
.0 FINPNHN PINN NN
nynnN int is_ending(char *s1, char *s2) 1o8pns 2350 v (MNP 10) (2

NN 0 -1,81 AHINHI HUA NN s2 NI ON 1
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10513 J0INY, MHANBN SY AN TIIYE NIBEH KN BIVAY N3 I noww by sy - ($1VTIPY 20) 3 49991 NNV

(P NPYNNKN NINM
class point{
public:
double x;
double y;
|5
M9 : MNP 2 NYINN (Yadn) rectangle NPONNN NN 2N W (MTPI 10) (N
: NINAD NPIPNN DN ,NNNNN NN MPLY MHNNDY
(MHINNN NP MPDY TPONNY NP MNP 2 DapNN NI .a
(MORPTNP) X,y 27 ONINN (double 5) DDON 4 HapnHn NI b
JNNNN TN MPDY IORNY NP : MTNP) NV DY
12507 TN NN NAYNNN PSPNY .C
12991 AN NN NAYNKN PSPNS .d

(2N * TIINY 12901 NOY NN NAWNHDN IPSPNY e
DPINHN NN IN AN P .SNEPND NT YU YRNY PN 25 DY

DN I (double) MONPTNP 4 HaPNN N2 - (b) NN WHNo ¥ (MTNPI5) (2
N>on rectangle NPONKN D 25 OXWO NTI : NIYN .rectangle NPONNN NN
.double NON DINWN 4 NDY TP NON DINWN 2

TN PN 290N NLY NN NPINNN PPN - (€) NN WHNd v (MNP 5) O
.ONA WHNYNY Y12 2MMN TR MAVNNN NPIPNSN NN vHnh
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1057 1Y, 73NN HY A3UN TIY3 Mrod HN BIWAY N It nowe vy sy - (VI 20) 4 9901 HINY

: DININ DONYNN DTN, 0NN DIDYONN THN YD Ny

#define LEN 100
char str [LEN];
char *strPtr;
int i;
INAD TIPN OO D (MNPI7) (N
strepy(str, "Abcdef™);
strPtr=str;
strcpy(strPtr,"a");
cout<<str<<endl<<strPtr<<endl;
NN TIPN OO I (MNP 7) (2
strcpy(str, "Abcdef™);
for(i=0; str[i]!="\0"; ++i)
if(str[i]>="a' && str[i]<='z")
str[i]=str[i]-'a'+'A’";
cout<<str<<end];
NN TIPN OO M (MTMPIE O
strcpy(str, "Abcdef™);
strPtr=str+2;
strepy(str, "Abc");

cout<<str<<endl<<strPtr<<endl;
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VHDL :73 g5

(5 - 10 mYRY) MINAN MOHRYN 6 TINN 7353 MINY 3 Yy My v)

1957 Jona W3RN S A9wn Tim¥a Koo N WY 0 e neww sy - (Y93 20) 5 4990 NYNY
: NN NPIDIND 1NN
NOON L, NINTN NINNIND ISINNY NIIND IN PIITHL XY W (M) 10) (X
19192 DOWIN DY TAPNY NI . TPIN »DYYNNTM "DONIVPNT DI YV DIV

library ieee;
use ieee.std_logic_1164.all;
entity tff is
port (clk, rst, t: in std_logic;
g: out std_logic);
end;

architecture rtl of tff is
signal sig: std_logic;
begin
process (rst, clk)
begin
if rst='1' then sig<= '0';
elsif clk'event and clk = '1' then
if t='1' then
sig<= not sig;
end if;
end if;
end process;
g<= sig;
end;

library ieee;
use ieee.std_logic_l164.all;
use ieee.std_logic_arith.all;
use ieee.std_logic_unsigned.all;
entity testSA is
GENERIC (Size: INTEGER:= 4);
port(clk, rst, t: in std_logic;
g: out std_logic_vector (Size-1 downto 0));
end;
architecture for_gen of test5A is
COMPONENT tff
port(clk, rst, t: in std_logic; g :out std_logic);

12 oo 5 1oy
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end component;
SIGNAL gSig: std_logic_vector (Size-1 DOWNTO O0):
SIGNAL tSig: std_logic_vector (Size-1 DOWNTO O0):

(others=>'0"') ;

(others=>'0"') ;
begin

tSig(0)<=t;
out_loop: FOR i in 0 to size-1 GENERATE

boxs: tff port map(t=>tSig(i), clk=>clk, rst=> rst,
g=>qSig(i));
end GENERATE out_loop:

- — - - ———

tsig(1l)<= gsig(2) XNOR gsig(3);
tsig(2)<= gsig(l) XOR gsig(0);
tsig(3)<= gsig(2) XNOR gsig(1);

end;

, DMWY DM90NI NIDINN HY DINNINN NITO NN DWW w (M) 10) (2

‘1’ n5apn t NOMOM ,0 -n Reset INND NZNNND NOIWNNY NNINY 1) TWUND
MNP 19N

DYDY ¥, TMINND PN OX NN NIX DIV ,TMNND N NITO ThyTY ON
(0 -n HY919) 722 MWK DYANNN 8 NN

SPHNYLD DD GIND W
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1105%3 0131, M3HBN SV LN THYA MBDB NN BILAY N e niwe sy - (111193 20) 6 19D HYNY

Anput = 1000 : NI DXYON Y2 IWNI , NN MINNN NNM
o2 div_by VY91 DY DN MMN NN 8D 0N PPIY NIRDALVN NN OOYNY W

VRN PYY NINND NYOIN 29D I8P DIVN 1Y NNINY ¥ .count -
library ieee;
use ieee.STD_LOGIC_l11l64.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std _logic);
end div;
architecture div of div is
signal count: std_logic_vector(size-1 downto 0);
begin
process (rst, clk)
begin
if rst = 'l' then
count<= input;
div_by<='1"';
elsif clk'event and clk = 'l' then
if count = 1 then
count<=input;

div_by<='0"';
else
if count < SHR(input,"01")-1 then
div_by<='0";
else
div_by<='1";
end if;
count<=count+1;
end if;

end if;
end process;
end;

12 nn 7 1oy
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MY NIANNA NYAO INY W NNV D DD

PDINN N (MNP 10) (N

: DY MNN NN YD DN count -2 N2 div_by H¥ 157y DIV

count

div_by

O~ RN

IMYN DX DMWY NPT ,NNIDINT NYHITINN

if count > conv_integer (input) /2

YN AN OOVN (MTPI 10) (2
:INAN
then

1DMPYY 20 NNYY NTND Y19 ,0°9902 13 NNY THSYD DIVID \ONIn

o) count -9 ©n2 div_by Dv 109y D my

count

NANN NDYTN ND2V SY NN
: DYDIN NYNN NN MND

div_by

ORI IN N [RIWIDND =

DY NN NYNIN NMIDINT MONINN
NONINDY NIDNT MONIHNN NNV NMP

YN
NPI902 NP SHR PNPNON .1
conv_integer mspNMN .2

NON MY 2 -2 PN vonwno amn D .integer -5 MOPN

.integer

ND NI NVUP21 ,D%90DT2 12YTIY 7DMNIYY DM INNND R IDRYL DV N2 3
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1051 1DINGY ,IANDN HY AWUN TIHYS HIODA NN DI N 11t noww by sy - (T 20) 7 9901 AYNY
WYY 2D DY ONIOPOX DINX DY ,NMNOPD DXIASN NN 7Y (M7 20)

OXPNdin="10" ONXN OPTA 0P ,C -2 B -1 72y1n2 Hwnd : DM2YNY Mnrip
din="11" omp ,A-D> C-n92ynn 2230 Y7)0 .A-D DMNIN IN - XY

*17-250ns5"NNXY ‘0’ -2 50ns :19Y3) MUY XIM 100ns NI PYYN INNHY NI

NI NP HPN) THNTD 7IDMN MY ,NNINM YANNN 4 PITDYW KN 99929 1IN0 POy

)19N2 NN PYVNNNY THINRNKY NN IND
1PN TP NN 0N NP NN : 2IWN

RN NPT H3) 4 -1 I HNK MIVOX N A -D Nvm C -H ,B-D A -a80n : Hwnd
(A D 901 0N
$ N NONRYY DINNDD

“01” :Aasn
“10” :B asn

“117:C asn

din=""01"
din="11"

din/="11"

ENTITY test?7 IS
PORT (rst, clk: OUT bit;
din: OUT bit_vector(l downto 0);
otp: IN bit);
END;
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1059 DI, 3NN B AWUN T MDD NN DIUAY N it nbww by nay - (YYD 20) 8 9901 NYNY

: N2 PYNHNN P
LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD LOGIC;
vec: IN STD_LOGIC_vector(3 downto 0);
ones: OUT STD_LOGIC_vector (2 downto 0));
END;
NI OYTAND I9DN NX NIDNY 1PN NNTHIND 1IN0 v (MNP 10) (X
TN MNXINY NN IR ,DIININ D2 wHnnvwind amn INvha 799N N
SIINTD vee NDM DY DT TOV NNTNIION
) MMIND W .NIVTNINED INNPN NNOVPOLIIIN POINY ¥ ,nyd (MNP 10) (2

.VEC NYMN YV VTN DD NN PYY MNn Yo2

VO LUPINY DD TAW DO OMINNND NPN PON DOV PYTAY NPINND oY
JIT2IY 11D NN0INND N2 NVOVN NN NV P07
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Fo5Y )OI , BN Y APUN THEYA MDD AN BIUAY N 1t nvww by sy - (1YY 20) 9 4901 HYNY
1% TPIDINN INMAY NIIND NN N0 v (MNP 10) (N

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09A_What IS
PORT (clk, rst, inp: IN STD_LOGIC;
otp: OUT std_logic) ;
END;

ARCHITECTURE arc OF test09A What IS
SIGNAL a, b, c¢: std_logic;

BEGIN
otp<= ¢ XOR a WHEN inp='0' ELSE
b;
process (clk, rst)
begin

if rst= 'l' then
a<= '0'; bg= '1';
elsif rising_edge(clk) then
a<=b; b<= inp; c<=b AND a;
end if;
end process;
end;

: I3 TMIDINND INNY NN NN Y W (MNP 10) (2
LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09B_What IS
PORT (clk, inpl, inp2: IN STD_LOGIC;
otp: OUT std_logic) ;
END;
ARCHITECTURE arc OF test09B_What IS
SIGNAL a, b, c: std_logic;
BEGIN
process (clk)
begin
if rising_edge(clk) then
a<= inp2; otp<= b; c<=inpl OR b;
end if;
end process;
b<= ¢ WHEN inp2= 'l' ELSE
aj
end;

12 70 11 Moy
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oY 1oMa1 13NN 5W A9UN ToY Naaon AN WA N 1t nvnw sy amy - (SN NIPY 20) 10 1991 HNY

.ONYOD DXOIVN D¥INN TP 1IN NON 1T NYNYA

di d (i7] d

¢ q| ql c q| q2

d(1) <=q(2) OR q(3);
d3 | d _J___ q3
] d(2) <= q(1) XOR q(3);
¢ q
_~> d(3) <= q(2) OR q(1) WHEN d(2)/=d(1) ELSE
" d(n;

DOVINA DMNIDN 2230 MAIVN M9YN

NN d -, 000Th XS NN g N  r=Reset, c=clk : DwInav onooTa 1
NDMON

Signal »on mmx on dl, d2,d3,ql,q2,q3 .2

bit NON MMNN Dow NNINY 1" .3

TP YTV NINK,DIWINN DYV DNNDI0L WHRnwnd NN .4

DWW NN NOONN NN PRIV NN TN, TIPD MMNX PO 9N .5

NYY 12T TOIN MNSY DN ,0HNN 2 DN TP 2NdY v (M™pP) 20)

INTY POV NP YD o .0wanaY npaon wony ,(Clocked Process) TnN
D%Y0 DWINN NN PMTNA

ANYSNA
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